oo
SR2Y AUl QENY M
122 WO 2L MFJIEH Ml
- W7 X2 TASE HE0| -5t B2t
124p, UMT| SAA MEF7|D(FHEMFRS), 2015
Ao OlHX|D | AL H|ERDI A HIERRI D2 HIEFRI EP | HIEHRI C
e=ee [kcal] [o]  [ugRAE]  [pg] [mg a-TE]  [mg]
o2} (19 ~294) 2100 55 650 10 12 100
+0 +0
oJAlE +340 +15 +70 +0 +0 +10
+450 +30
(o) LIOFAl  HIEHDI Bs | A 2t ® |
[mg NE] | [mg] | [ugDFE]  [mg] [mg]) [mg]
o2} (19~294) 14 1.4 400 700 700 14
SIS +4 +0.8 +220 +0 +0 +10
2. 129p, 17| FAA HF7|=(HEEF), 2015
e OlLfX|V | EHMAI H|EREI A H|EFDI D2 HIEFZI EY | H|ERRI C
R (] [o] [ugRAE] [ug]l [mg a-TE]  [mg]
o2} (19 ~294) 2100 55 650 10 12 100
zom +340 0 425 4490 +0 +3 +40
N LIOMA  HIEHDI Bs 4t 2te ® |
[mg NE]  [mg]  [ngDFE]  [mg] [mg] [mg]
o} (19~294) 14 1.4 400 700 700 14
Z0H +3 +0.8 4150 +0 +0 +0
3. 156p, StA7|9] HUA MF7|E (HEMEFR), 2015
s o | OEXD BT iRl A HER D? ) HIERIEY g C
© S [keall [a]  [peRAE]  [pg] [Img o-TE] [mg]
- 6~ 84 1700 30 450 5 7 55
9~ 114 2100 40 500 5 9 70
o 6~ 84 | 1500 % 400 5 7 60
9~ 114 1800 35 550 5 9 80
M o LIOMA | HIEF2I B At s & =
[mg NE] | [mg] | [egDFE]  [mg] [mg] [mg]
- 6~ 84 9 0.9 220 700 600 9
S 9~114 12 1.1 300 800 1,200 10
o} 6~ 84 9 0.9 220 700 550 8
9~114 | 12 1.1 300 800 1,200 10

B (170 1M)
Elofal  2l=Zal
[mg] [mg]
1.1 1.2
+04 | 404
Ot T2
[mg] (1g]
8 800
+25 | +130
Elofgl 2|2 Zat
[mg] [mg]
L1 1.2
+0,4 | +05
O T2
[mg] (1g]
8 800
+50  +480
ElOR2l 2= Eal
[mg] = [mg]
0.7 0.9
0.9 1.2
0.7 0.8
0.9 1.0
O T2
[mg] = [uel
6 440
8 580
5 440
8 580



4, 159p, HAH7|9 HUAA MEF7|E= (HEMFR, 2015
ol | ol = OAX|Y | CHEME | HERRI A HIEFR D2 HIEFDI E® HIEIRI C | EOFRI  2|EEal
°F "% [keall lo]  [peRAE]  [pg] [mg a-TE] [mg]  [mg]  [mg]
ur 12~ 144 2500 55 750 10 10 90 11 L5
15~ 184 2700 65 850 10 11 105 1.3 1.7
9% 40 650 1 10 1 1.1 1.2
V|12~ 144 2%8 50 600 18 11 9050 12 12
15~ 184 : :
M o LIOFA HIEHI Bs | At s o =] o T2
[mg NE] | [mg] | [pgDFE)  [mg] [mg] [mg]  [mg] [pg]
W 12~144 15 15 360 1000 1,200 14 8 740
P s~ 184 17 15 400 900 1,200 14 10 840
o 12~144 15 14 360 900 1,200 16 8 740
15~184 14 1.4 400 800 1,200 14 9 840
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40I(19~64AM)~ EAt= 55¢, A= | dQ(19~64M) ~ A= 659, Xt
121, 52p, 19 @ ( ) f 9 O%t 3 2l( ) r 9. G%t
509 5599
1d, 123p, ® G4 | - AYYEF T +200 ugDFE « HYHFE: +220 pugDFE
x
4) )2
1#, 129p, 4) & oA O 2He~E+Es =0[12(12%) ~
@ HEYFZ: +0mg
18, 139, (292 ® | SYYF7|IE: ~E2ERE 109, ~ JLEFI|E: ~ B0 ERT 109 ~
13, 139p, 3)2] ® | BEHFY:~259 n—6 XL~ SREUFHY : ~25g 6 AL~
HAMET7|F:0~5712 ~ HIAIZQEE HUME7|F:0~5712 ~ TRFLZRE
121, 140p, 2)°| @ 3LuF| H = JLF7| f =
5mg, smg; ~
18, 149p, 1)o] @ | ZEa 22 ~ (3eE) Zadtoel ~ (528
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13, 156p, 3)2| @

AMO|dR SELFE: 00 209, HOt
20g

13, 164p, 52| ®

M GX 10mg, OX} 14mg ~ 50~64 A
L 10 mg,

M| 14mg ~ 56~64M=FAH10-mg;

13, 152p 7 '0}=7|9]
MHAE E3 ~ 154p

152p, 7, ots7]2l AHH 9
153p, 8, Ot57(2 Y R
154p, 9, Ot&7[9| Al 2X|

154p, 10, stul g4

saEeE UE A =287 UHE2=
THCHE|O] AP
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47 %, 712l

510 kcal/day

2F(0.65 kcal/mL)x 2
@ ZQ=M™ak 510 kcal EN|O| K| X|tt

340 kcal/day =7}

(2 80% 7t

(=] 3=1
=
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(780 mL)
(170 kcal)
9.5 g/day
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2FADH:2 x 1.5 = 3ATP
HO|A = 125 %
@ HEMEF 2 9.5 g/day+047x1.25
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2F(0.65 kcal/mL)x 2

490 kcal/day

320 kcal/day =7}
47 %, 74¢l

3 ATP

[e1=13
=

! 945 g/day

(170 kcal)
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= 25.1 g/day(2F 25 g =7}

BO| A4 125 %
@ HEAHFZ: 945 g/day+0.47x1.25

2NADH:2 x 1.5
=H|ZK750 mL)
@ ZFH™Ek 490 kcal 2H| o X X gt
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13, 174p(1M =
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OHX|% =
23, 102p,

3d, 103p, E&
23, 98p,




H|0|x| =) =
@ SEER(AYA, 71, LHE, $2E)
24, 162p, oxqt 0| an @ ZHRE(HE H2, pHEE)
[ "o 715 | T T 7T ® ol Algag,

@ XEEE

2, 22p, (1) X . _

Ao g g apm | O3 BE N BEOIL BEE~ | @TN BEJHel MEO| 2HS-

L X o
R0 =oEC QS 6Hf, ZES 4,

13, 141p,

5 2o|Zge 3 Jig o @Ol ¥R

'BR0o| Ca/PQ| HIS ~ L2 AH o TlEes !
4) gorE =X, oxo| ygoz b1 S A o QU0 7|50| D=t Foto| Alxtof &
ewmuys | T T T o FOZ CERr|Rg oa, £33
2 ot 72| s2| niEgRrIEs ot
23, 67p,
O HX|EX StXb= 90cm O|At, OJXb= 80cm O|AF | YXt= 90cm 0|4, O{Xt= 85cm O] At
N o 1 Oy OlDI_:|~ olEN
- sl2| =2

43, 74p, 1) ShS Y Y

@ HX K| O (o Fu7t 2 M=)

@ T QK| O| g6 FHEF 2 AAE)

13, 63p, 4) ol BA

(@D DNA polymerase I
@ DNA polymerase III

@ DNA polymerase III
@ DNA polymerase I

23, 66p, 2) AHIZI= cAMHTAEMEMES SHYSIE HE A | AN HEES FHSE HH A
= 1 — — - — L —
?|,~sle|et dHo|=eH|,~ 2|, ~sle|et-Fot= |, ~
LH 1] M s2= 7 s 2HMZ Zgs TIPS
23, 187p, ® w i e | GEY o
7L TN EEO| ZFA| = (calcitonin) 24 mof 33 A e
THE 22 AZGEE ABeE, I
B BAASEEPTH) J9 24 S5 94 B4 (284 dT 44 Az2 73
5T AAAA
22, 129p, 60°C, 152 7}YZ ALY 60°C, 5~15& 7tYZ AtH
@ HgH|Eale AEE T o
48, 35p, ME | 100% WHHAY wE A
_ o Syer Aper g% ey, 2ol So] Wyl Hag
AAFT A O oFE T o} =713 FF A A n ge e A7 A
QHIM Jido| 21 Aol dfra 100 % SRAIHF
3H, 87p, (4) WA ©00| HIME ~ 2050~20.61°C ~ ©00| HIMS ~ -050~-0.61°C ~
43, 219p, 149 Oo|stel A £ 3WOHRl O|stel | 1d olstel Y L= 1HTHY 0[ste
MO8ZE(HA]), HuAlst "3z Ha
42, 37p 1,700kcal - =2 325 1,700kcal - =2 25
, cal - = . , cal - = .
HE AT EIA T T
43, 38p,

AZAMTHEIB

2,100kcal - 7|« M MeCtZEeZ 2 5

2,100kcal - 17| «Al MeEtZFeE 2 45




HO|X|
43, 132p,
o = %Ol_lﬂ o
2] S28 4FE, o
— ) o H o A
0 gugeaag |00 302 8UC 102 JHER #30 AR |- 60C 308, 80, 302 JHAZ WA A
« T (1009)

e XL (1509)




